H#AFE 25 GEIEERELHE) ?Q:é . E\;J-E&E—f@
(IR 3z &11E)
(BEGi: T, %)
F E SHTEE|FN2FEE| FM3FEE
x N () | (k®) [E* i ] REE |SHSEE|ISH6EES7EESM8ERE
1 i U = (A) 18,922 12,868 7,560 7,560 7,560 7,560
1) & E3 IR # (B) 18,922 11,568 7,560 7,560 7,560 7,560
i 7  # F 5 #M IR A 18,922 11,568 7,560 7,560 7,560 7,560
@ f % ® T % I &
Wil & E3 ot [l S 1,300
7 £ BH O# A 2 1,300
& 1z %) e
8 2 & A (D) 2,263 1,300 1,300 1,300 1,300 1,300
1) & ¥ & ] 2,263 1,300 1,300 1,300 1,300 1,300
Iy | 4 7 B El 8 5 &
= 5 5 B B F =%
x| # 14 % D 1t 2,263 1,300 1,300 1,300 1,300 1,300
X[ (@ =& ES st & ;]
H 7 X% i E B
Ces—®BEAZFE
{4 * ) ft
3 N X &= 5l (A)-(D) (E) 16,659 11,568 6,260 6,260 6,260 6,260
1 & Z Y i A (P 36,000 92,800
(1) Vel &
. B & & B EICKR 2 5 &
i 5 7 = & %
) (2) b = it 1 B & 36,000 92,800
w3 = it & A oy
AL B & B E Ff& #H K £
& (5) B ( # & §F B ) # B £
(6) T = & ] ES
PN (7) % ) h
2 & X # b3 H (G) 24,666 108,020 24,341 6,260 6,260 6,260 6,260
3] (1 B & By B & 24,666 77,764
T # B I E woBEE
m) & 3 % 76,450
% jf; W B % 5 %
4 % ) fth 24,666 1,314
x| (2 Vil & = = £ (H)
H EHERBEICRIMAFABEEES
T Fl & B % {# & £
3 ML EHEBASLEES
(4) #h £ F ~ 0O # H = 30,256 24,341 6,260 6,260 6,260 6,260
(56) % ) h
3 IR % = 5l (F)~(G) ) 36,000] A 24,666 A 15220] A 24341 A 6,260 A 6,260 A 6260[ A 6260




0 B (R JEE A JL > =
H#AFE 25 GEIEERELHE) ?xﬁ . 'E\;J-_E& 51-@
(IR 3z &11E)
(BEGi: T, %)
F E SHTEE|FN2FEE| FM3FEE
= 5 (RE) | (RE) [E* i ] REE |SHSEE|ISH6EES7EESM8ERE
R *X B E= 5l (E)+(D (J) 36,000 A 24,666 1,439] A 12,773
i fvi & (K)
MEEMSDEBE (L) 36,000 11,334 12,773
MEERLELTEARAS (M)
B2 X IR X (D-(K)+HL)-(M) (N) 36,000 11,334 12,773
PHEEA~ABY BT NZFTH RO 36,000 11,334 12,773
£ # I FE2 F (P)
(N)-(0) P F (Q)
= 3%z (Q)
* F B R ( By <100 )
IR 2§ B84 UR X Lk 3R ( (D()é()m X100 ) 836 990 582 582 582 582
MAMBUAEITSEI165FE1EIC ;UEELT_ (R)
& 4 ) T )
B EINE - FFEIEW (B)-(C) (S) 18,922 11,568 7,560 7,560 7,560 7,560
g 2 BB RS § (RI/(S) X 100)
BELZEZRTSE6EIZIVEELE s
& o ) T z %8
BELERETRAUEFICHET 5 w
2 B W B & £ T B %
BELEBTIEIEFE1EEIEICHET S )
+ Hh I A E ﬁ %8
BELEETRAUFEIEESS FYEELT w)
kX £ H £ U )\ E A B
BRELZERTSETEIZEIVEELE X
S ¥ ) iR 1
gﬁ‘t‘g%ff%’ FOREYE (/oo xion
o @3 OB A £ KB B (Y)
i) Vil & 5% = (2)
OfthLEHEASR (B FH)
E=3 B MREE | fIREE BTEE
% CEX LB HEE
IR #% M IR X o 1,300
St EERNKE AR
56 H OE N B ASR 1,300
E A M I X H
S5 HERNRKBE AR
S5 b E ¥ 4 8B A S
& i 1,300




